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P=100W, t =1 hour = 3600 s

E=Pt=100 X 3600 X 30 =10800000 J
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alaid (P) = 1200 W, avawo (t) = 1 aemlesad
Delpld:’ @MW 2a16WuTla) HOAIBYE®OBER0 = P X t/1000 = 1200 X 1/1000 = 1.2 unit.
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ala1d (P) = 100 W, avawo (t) = 1 aemlesad
0OAIBY® MICIMNI’ 20l HOAIBYEMIAR0 =P X t/ 1000 = 100 X 1/1000 = 0.1 unit.

Activity 5
15 W 2101988 aV.af)as’af)@d 8@ 06m1esa @Jai3om]ajo@d 9alcawlsasam 6)6)0_I(3<§(3(5)0(3330

BEMNENIBRH>?
alaid (P) = 15 W, avawo (t) = 1 aemlesad
CFL 2al1c0ouily) opaisyemodeo =P X /1000 = 15 X 1/1000 = 0.015 unit.
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E = (P Xt)/1000
E X 1000 =P X t

t = (E X 1000) / P
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E =1 unit, P=100 W
avao, t = (E X 1000) /P =1 X 1000/100 = 10 hour
Activity 8
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E=1unit, P=15W
avawo, t = (E X 1000) / P = (1 X 1000) /15 = 66.66 hour
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E=1unit, P=9W
amvawo, t = (E X 1000) /P = (1 X 1000) /9 = 111.11 hour
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CFL 003 a101d = 20 W, anom1oag a10id =60 W, TV @es aiaid = 100 W
@i’ CFL 9alcwouila) ooa1syemodeo kWh @3 = (P X t) / 1000
=(20 X 5X4) /1000 =400 /1000 = 0.4 unit

4 20000 DaIEWIUTly) HOMIBYE®Idz0 KWh @8 = (P X t) / 1000
= (60 X 4 X5) /1000 = 1200 /1000 = 1.2 unit

TV 9alc0onlsy 0013 E®0620 kWh @3 = (P X t) / 1000
= (100 X4) / 1000 = 400 / 1000 = 0.4 unit

83 31AIVOHOD B D> OOAIBY® DalERONO = 0.4+1.2+0.4 =2 unit

S 20AVOO HNAUBYD® DalEBIWN = 2 X 30 = 60 unit
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